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6 clocks

x1
x2
x12
y12
x21
y21

5 parameters

rc_fast_min
rc_fast_max
rc_slow_min
rc_slow_max

delay

6 discrete

s1
s2

s12
sprime12

s21
sprime21

Initial

delay > 0 
 & rc_slow_max >= rc_slow_min 
 & rc_slow_min > rc_fast_max 
 & rc_fast_max >= rc_fast_min 

 & rc_fast_min >= 0 
 & y21 = 0 
 & x21 = 0 
 & y12 = 0 
 & x2 = 0 
 & x1 = 0 
 & x12 = 0

node1

U rcont1 True rcv_ack21
s1 := 0

rcv_idle21
s1 := 1

rcv_req21
s1 := 2

slow1 rc_slow_max >= x1

snd_idle12
x1 := 0

fast1 rc_fast_max >= x1

snd_idle12
x1 := 0

rcv_ack21
s1 := 0

rcv_idle21
s1 := 1

rcv_req21
s1 := 2

U sample1 True

 x1 >= rc_slow_min

rcv_ack21
s1 := 0

rcv_idle21
s1 := 1

rcv_req21
s1 := 2

 x1 >= rc_fast_min

snt_req1 True

 s1 = 1
snd_req12

U almost_root1 True

 s1 = 2
snd_ack12

rcv_req21
s1 := 2

U almost_child1 True

rcv_ack21
s1 := 0

root1 True

root1

child1 True

child1

node2

U rcont2 True rcv_ack12
s2 := 0

rcv_idle12
s2 := 1

rcv_req12
s2 := 2

slow2 rc_slow_max >= x2

snd_idle21
x2 := 0

fast2 rc_fast_max >= x2

snd_idle21
x2 := 0

rcv_ack12
s2 := 0

rcv_idle12
s2 := 1

rcv_req12
s2 := 2

U sample2 True

 x2 >= rc_slow_min

rcv_ack12
s2 := 0

rcv_idle12
s2 := 1

rcv_req12
s2 := 2

 x2 >= rc_fast_min

snt_req2 True

 s2 = 1
snd_req21

U almost_root2 True

 s2 = 2
snd_ack21

rcv_req12
s2 := 2

U almost_child2 True

rcv_ack12
s2 := 0

root2 True

root2

child2 True

child2

wire12

empty12 True

bufone12 delay >= y12

snd_ack12
x12 := 0
y12 := 0
s12 := 0

snd_idle12
x12 := 0
y12 := 0
s12 := 1

snd_req12
x12 := 0
y12 := 0
s12 := 2

 s12 = 0 
 &  y12 > 0
rcv_ack12

 s12 = 1 
 &  y12 > 0
rcv_idle12

 s12 = 2 
 &  y12 > 0
rcv_req12

 s12 = 0
snd_ack12

 s12 = 1
snd_idle12

 s12 = 2
snd_req12

buftwo12 delay >= x12

snd_ack12
y12 := 0

sprime12 := 0

snd_idle12
y12 := 0

sprime12 := 1

snd_req12
y12 := 0

sprime12 := 2

 x12 > 0
rcv_ack12

sprime12 := s12

 x12 > 0
rcv_idle12

sprime12 := s12

 x12 > 0
rcv_req12

sprime12 := s12

 sprime12 = 0
snd_ack12

 sprime12 = 1
snd_idle12

 sprime12 = 2
snd_req12

wire21

empty21 True

bufone21 delay >= y21

snd_ack21
x21 := 0
y21 := 0
s21 := 0

snd_idle21
x21 := 0
y21 := 0
s21 := 1

snd_req21
x21 := 0
y21 := 0
s21 := 2

 s21 = 0 
 &  y21 > 0
rcv_ack21

 s21 = 1 
 &  y21 > 0
rcv_idle21

 s21 = 2 
 &  y21 > 0
rcv_req21

 s21 = 0
snd_ack21

 s21 = 1
snd_idle21

 s21 = 2
snd_req21

buftwo21 delay >= x21

snd_ack21
y21 := 0

sprime21 := 0

snd_idle21
y21 := 0

sprime21 := 1

snd_req21
y21 := 0

sprime21 := 2

 x21 > 0
rcv_ack21

sprime21 := s21

 x21 > 0
rcv_idle21

sprime21 := s21

 x21 > 0
rcv_req21

sprime21 := s21

 sprime21 = 0
snd_ack21

 sprime21 = 1
snd_idle21

 sprime21 = 2
snd_req21

s1o

S1oStart True

S1o1 True

root1

S1o2 True

child1

S1o3 True

child2

S1o4 True

root2

S1oEnd True

child2 root2 root1 child1


